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abstract

Mintisty of Culfure & Toutistn and Korea Culfure & Touristn Policy Instifute have
been conducfing surveys concemning arts and oulliure including this “Survey on Artists &
Activities®. The objectivity of this survey is fo iderfify working lives of arfists and fo
build a systermatic database in this respects. This survey running every three years has

been underfaken since 1988, making this the 6th survey of the series.

Survgy Contents and Methoadology

As with the earlier surveys, the respondenis of this survey are classified according fo
the fen categories, including writers, paifers & sculptors, photographers, architects,
Korean classical mogicians, Western classical musicians, classical dancers, theafrical
artists, film arfists apd popular epfertainers. The population for this survey are artists
from the ten member organizafions in the Pederation of Astistic and  Culfural
Crganizations of Korea, and nine in the Korean people’s Artists Federaion. The sarple
with 2,000 arfists was drawn from 200 each in 10 genres, and then rapdomly collected
in propartion o the tumber of arfists i provinee. However the fotal cases for analysis
wag 1,947 because of unaccurate population list and low rate of refurn.

This survey was copducted in fwo parfs: 26 common questionnaires (44 ones
including sub-quesfions) and & questiomaires(11~17 anes including sub-questions) for
each genre. I addifion, tis survey confained 11 quesfionnaires related {0 respondent™s
socio-demographic. backgrounds. The common questionnaires included L a degree of
safisfaction as an arfist, @ volunfesr aciivifies and parficipation i arfs organizations (3
an artist’s working life in digital ages, @ educafion and occupation, & attitude foward
apd evaluation of arts policies. The questionnaires for each genre was about acfivities

area, activities period, & way of debuf, and acfivity career. Tn order fo idenfify the
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socio-dermographic. characteristics of the respondents, they hawe been classified by sex,
age, education, place of residence, occupation, and income & expendifure.

This swvey was carried ouf from August 11t o Ociober 2th in 2003 The
questionmaires were substantially collected by rail, bui some of respondents whose
genre category showed a low refur rafe were inferviewed.

The brief findings are stated below.

Findings of the Survey

1) Arfists were nof safisfied with the environment for the arts. To the questions abouf
social recognifion for arfists, chance for exhibition, support for the arfs, and econoric
compensation  for  arts  activities, fthe answer “unsafisfied” ouftumbered “safisfied’.
However, 62.1% of respordents were safisfied with their arfistic activities, and 16.7%
unsatisfied.

2) The percenfage of arfisis who were involwed in the professional arfs orgarizations
was 30.6%. The percentage of arfists who parficipated in voluntesr acfivitiss was 5856%.
In addifion, 85.1% of respondents were inferested in joining volunfeer activifies in the
fufure.

3) 20.8% of respondenis had their own Tfernet homepage for exhibifion, and 17.3%
of them held online exhibitions & comcerfs. 726% of arfists went online in regard fo
the arts, and 67.8% of them used the high fechnology such as computers for arfistic

purpose.
4) 459% of respondents are underway to gef or already held bachelor's degrees,

35.3% higher degrees (master’s or doctorate). 179% of respondents were educated af
high schools & middle schools, and 0.9% were educated af elementary schools or not at
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all. The percenfage of a degree of relevance befween educational major and artistic
activiies was 59.0%.

01.8% of respondents had professional occupation, and 7.7% of them were refired or
jobless. The perentage of a degree of relevance befween occupation and  arfistic
acliviies was 824%

5) 67.7% of respondents were not safisfied with policies for the arts in Korea. 61.1%
of them thought their opinions were not taken into consideration in policy-making af all.
To the question “what is the most important thing @ be done by artists and government
for progress of the arts’, 22.3% of respondents thought that most important thing for
artists themselves is o eradicate cornption and cronyism in the arts field. And for

governmment 31.1% of respondents indicated supporting for artists financially.
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